Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria

Complete Spare Parts List of
Martin Martin Case Pro |

02000203 Processor, Pentium Il Celeron 500/533 MHz
02005109 80C166 CMOS 16 bit processor 20MHz
02012541 X3130A-4 FPGA ,SMD,PQFP

02032501 1Kx8 Dual port Static RAM

02035522 28F400, 256Kx16 flash PROM, PSOP 44
02050105 74 HCT 125 line driver 3 state ,SMD
02050106 74 HCT 132 Quad Nand Schmitt trig, SMD
02050112 74 HCT 244 Octal Bus buffer,SMD
02050113 74 HCT 245 Octal Bus tranceiver,SMD
02050118 74 HCT 574 OCTAL LATCH ,SMD
02050121 74 HCT 4052P 2 x4-2 MUX ,SMD
02105001 7805 5V VOLTAGE STAB.

02121010 ULN2803A stepmotor driver, standard
02121701 SN 75176 BP RS485 Transceiver
02121821 ADM 202EARN ,RS232 Seriel Transceiver,SMD
02200000 4N25A Opto photo transistor
02200002 6N137 Opto photo IC

02205005 Display LCD, 4x20 Char w. LED backlight , Green
02320201 SFP2955 Hexfet transistor

04000160 100nF, 50V, ceramic

04040228 22uF, 25V, electrolytic, radial

04050160 100nF, 50V, ceramic, SMD

04051160 100nF, 16V, ceramic, SMD 0603
04082116 2.2uF, 16V, tantalium, SMD

04082124 10uF, 16V, tantalium, SMD

04150000 0 Ohm Resistor

04150308 120 Ohm Resistor

04170224 22 Ohm, resistor, SMD

04170332 220 Ohm resistor, SMD

04170348 330 Ohm resistor, SMD, 1206

04170356 390 Ohm resistor, SMD, 1206

04170372 560 Ohm resistor, SMD, 1206

04170400 1K Ohm resistor, SMD, 1206

04170432 2K2 Ohm resistor, SMD, 1206

04170464 4K7 OHM RESISTOR, SMD

04170500 10K OHM RESISTOR, SMD

04170564 47K OHM RESISTOR, SMD

04170600 100K OHM RESISTOR, SMD

04170700 1MO OHM RESISTOR, SMD

04190303 100 Ohm 2 Watt Resistor



04220011 10K Ohm Potmeter 6mm x 50mm plastic axel
04222401 10K Ohm Lin Fader, conductive plastic
04300001 1N 4148 Diode

04301001 BAS32L-115 (1N4148), SMD

04307002 6V8, diode transil

04307004 Diode transil, 10V

04310001 LED 3mm Green

04310011 LED 3mm Red 625 nm

04310013 LED 3mm Bicolor Red/green

04310014 LED 3mm bicolor, red/green, on tape
04360003 X-tal Oscillator 32MHz

04400450 20uH, 3A, 50VDC com mode choke
05060011 Heatsink for TO220 PCB 15K/W
05120011 Socket-IC 8 pin, tulip

05120050 Socket-SIL 20 pin

05120701 Jumper, 2 pole, 2.54mm spacing
05123001 XLR female 3-pin chassis, PCB, angle, gold
05144002 Header 2 pole 2.54mm PCB

05144004 Header 4 pole, 2.54mm, PCB, coded
05144006 Header 6 pole, 2.54mm

05144009 Plug 9 pole PCB il , coded

05144014 Header 4 pole 5.0mm molex PCB
05144060 Header, 40 pole, PCB sil

05144442 Plug 20 pole PCB dualin line schrouted
05144443 Plug 26 pole PCB dual in line schrouted
05144444 Plug 40 pole PCB dualin line schrouted
05144445 Plug 34 pole PCB dual in line schrouted
05223101 XLR 5-pin female chassis

05243001 XLR 3pin, plug, chassis, male

05243101 XLR 5-pin male chassis

05323201 XLR female 3-pin cable type, black, metal
05323501 Multiplug 25 pole flatcable female
05323502 Multiplug 9 pole flatcable female
05323514 Plug, MTA female, angle, wire, 4 pole, yellow, 0.12-0.14#
05323522 Plug MTA female angle, wire, 2 pole, natural, 0.20-0.22#
05323526 Plug MTA female angle, wire, 6 pole, natural, 0.20-0.22#
05324103 Crimp Terminal

05324202 Crimp Terminal Housing 2 pole,for 319860
05324209 Crimp Terminal Housing 6 pole,for 319064
05324211 Crimp Terminal Housing 6 pole,for 319064
05324214 Crimp term housing, 4 pole, 5.0

05324504 Multiplug 26 pole flatcable

05324505 Multiplug 34 pole flatcable (Floppy)
05324506 Multiplug 40 pole flatcable female
05329203 Cable tag 4mm hole, stamp

05343101 XLR 5-pin male, cable type, black, metal
05343201 XLR male 3-pin cable type, black, metal



05343401
05343500
05343511
05500011
05501001
05501202
05550066
05551010
05551011
05552002
05552003
05741005
06220001
06240012
08050401
08050501
08050702
08050703
08050706
08050802
08050803
08052701
08053802
08053805
08053806
08053807
08053814
08054303
08070401
08070402
08070408
08070501
08071208
08071303
08072601
08072701
08073601
08073603
08073801
08073802
08074401
08091202
08094001
08111305
08112304
08112701
08113101

Plug 4 pole male cable - solder
Multiplug 25 pole flatcable male
Multiplug 9 pole flatcable male
DIP switch 6 bit DIL

Digi switch

Tact Switch SMD h =7.0mm
Button for digiswitch, 2 hole ,blue
Knob 6mm REAN Black w screw
Lid for 6mm Knob. black (for 355012)
Knob Grey for P&G analog fader
Knob Red for P&G analog fader
Fan, Pentium Cooling, 5V DC Brushless
Gooseneck Lamp w 3 pin XLR angle
Protection Key Martin/Case Ctrl P1
M3x4 screw, Phillips, ph, black
M3x4 screw, Phillips, cs, black
M3x6 screw, Torx, ph, black

M3x8 screw, Torx, ph, black
M3x12 screw, Torx 10, ph, black
M3x6 screw, Torx, cs, black

M3x8 screw, Torx, cs, black

M3 hex lock nut

M3x5 stand off, m/f

M3x6 stand off, f/f, PA

M3x7 stand off, m/f, black

M3x10 stand off, m/f, black
M3x20 stand off, m/f, black

M3 washer, nylon

M4x6 screw, Phillips, black

M4x10 screw, Phillips

M4x20 screw, Phillips, ph, black
M4x10 taptite, Phillips, cs, black
M4x10 screw, Allen, low, stainless
M4x16 screw, Allen, cs, black

M4 hex nut, black

M4 hex lock nut, PA-insert

M4 blind rivet nut, cs

M4 blind rivet nut

M4x5 Stand off, m/f, UNC 4-40, |=5 mm.
M4x8 stand off, m/f

M4 lock washer, black

M5x16 screw, Allen, black
M5x10x14, treaded insert

M6x30 screw, Allen, cs

M6x20/15 handwheel, D40, black
M6 hex lock nut, PA-insert

M6 wing nut



08113301 M6 hex weld nut

08190104 2.9x9.5 self-tap, Phillips, ph, black
08190404 4.2x13 Self-tap, Torx, black

08220101 3.2mm x 6 Rivet Black

08220303 4x8mm, rivet

08220602 5.0mm x 10mm Rivet, alu

08220604 5.0mm x 18.0mm Rivet, alu

08220606 5.0x16 Pop Rivet grooved alu

08222004 Wood dowel 10 x 40 mm

08240610 Medium butterfly, cranked spring out
08330101 UNC, 4.8, 6-32x1/4"

08330102 UNC, 4.8, 4-40x 1/4

08330105 UNC 4-40, Nut

11501012 Mains cable I.E.C. 3pin, 1.5 m, Black
11820003 5 pin DMX to 3-pin Martin link cable, Reversed
11820006 *XLR 3pin DMX to XLR 3pin Martin, Reversed, I=10cm
11830000 5x2x0.14 with screen; 22xleoco2533
11840011 DSUB 15 HD, Male-Female , VGA monnitor 410mm
11840013 Adaptor PS2 female to 5 pin DIN male
11840019 IBM keyboard cable to 5pin DIN Chas. , 250mm
11860004 Connector wire for fader

13104000 Strap, black , high temp, 2.5x98mm
14104003 Plastic front for CASE, Gray, 12mm
14306501 Soft shield gasket (EMC)

15400502 1x0.25# Yellow wire

15400503 Wire, blue, 1x0.25#

15400504 Wire, 1x0.25#, red

15400505 Wire, 1x0.25#, black

15401001 1x0.5# White wire

15401005 1x0.5# Red wire

15401006 1x0.5# Black wire

15470002 Ribbon Cable 10 core

15471001 Ribbon Cable 26 core

15471002 RIBBON CABLE 25 CORE

15471501 Ribbon Cable 34 core

15473001 Ribbon Cable 40 core

15500008 2x0.22# Twisted screen cable

15802000 Silicon/glas sleeve d=3mm

16500020 Rubber shock absorber, medium duty, black
18620020 Window for display 4 x 20 Chr.

19000090 3 leg corner, flight-case, large, cranked
19200060 Steel handle with black rubber grip
19440010 Rubber foot 20x7.9mm, Black

23400160 Plastic platter for CASE ctrl.

26600010 Wood side left, CASE ctrl.

26600020 Wood side rigth, for trackball, CASE ctrl.
26620010 Monitor shelf bearing, CaseContr, Turned



26620050 CD/ HDD bracket, CASE controller, painted
26620060 Holder A for floppy, CASE controller, painted
26620070 Holder B for floppy, CASE controller, painted
26620121 Holder for wood, 2. part, CASE

26620131 Holder for wood left, Case

26620141 Holder for wood right, Case

26620161 Blind plate, CD-Rom, Case EMC
26620170 Blind plate A, CASE controller, painted
26620180 Blind plate B, CASE controller, painted
26620310 Interface bracket front, Case

26620320 Interface bracket left, Case

26620330 Interface bracket right, Case

26620340 Interface beam front, Case

26620350 Interface beam back, Case

26620360 Holder for raiserboard, Case

26620370 Holder for interf. left, Case

26620380 Holder for interf. right, Case

26620400 Plate for trackball, Case EMC

26620660 Angle, PSU, Case

26620670 Angle ll, PSU, Case

26620675 Angle Il for PSU, CASE

26640062 Chassis-A, CASE controller

26640121 Front plate A,MARTIN controller
26640420 Monitor base support for Case Controller
26640430 Monitor shelf, CaseContr, painted
26640731 Right side pl. CASE controller

26640741 Left side pl. CASE controller

26640880 Monitor arm, CaseContr, painted
26641160 Hidden front A, Case

26641190 Back plate, chassis A, Case

33140007 Label Instruction Monitorholder CASE
33302004 Dust Cover for CASE P1

34151060 Foam 1, Case P1

34151061 Foam 2, Case P1

34151062 Foam 8, Case P1

34151063 Foam 5, Case P1

34151064 Foam 6, Case P1

34151065 Foam 7, Case P1

34151066 Foam 4, Case P1

34151067 Foam 3, Case P1

35000071 User manual, Case Controller

37000208 Locktite 460, 20 gr.

37000801 Silicon glue clear, low temp. (220-250 ¢C)
37000806 Silicon glue clear, 220 degree C , 90ml
39041002 ENDAT-370ML motherboard

39041501 Harddisk, 40 GB

39042002 Floppy drive 1.44, black front



39045000 Riser board, 16-bit, 2+3 slots

39046005 64Mb SD-RAM PC100

39047001 ATX PSU for PC w cabinet, CE/UL approved
39100000 PC Keyboard, UK

39100504 Trackball, Grey, no cables

55730040 Wireset 34 pole flat, I=460mm , 2 pl
55730041 CASE EMC, Front section A

62010502 PCB, Case, Scankey 4, tested

62010508 PCB Case , Main keyboard w SW/LED , TESTED
62011004 PCB Case,l/O Opto,Martin,DMXin,-out,Bus
62012006 PCB Case, PC Interface/Link Card complete
62013002 PCB, Case lamp Filter board

62021001 PCB Case, Adaptor f. Master Interface
62202016 Wire for trackball, Case

62203025 Wireset ser DMX CASE CONTROLER w 5pin XLR
62203026 Wireset ser DMX CASE CONTROLER w 5pin XLR
62203149 Wire for potmeter, CASE

62203162 Wireset Link to plus wing Case controller with 3 pin male XLR
62203200 Wireset for PSU, CASE CONTROLLER, V2
62203203 Wire for PSU Wireset, CASE+ CONTROLLER
62203270 Fader wire w/plug, Case

62206002 Wireset 26 pole flat, =230 , 2 pl

62206005 Wireset 9 pole flat, =230 , 2 pl

62206008 DSUB 25, Male-Female / Chas ,flatcable
62206009 Wireset 40 pole flat, =80 , 2 pl

62206013 Wireset 40 pole flat, =620 mm. , 2 pl
62227001 Display LCD 3, Case

62228006 ATX PSU, with earth wire

62251004 Digiswitch buttons, Section Fixtures,seriegraphy
62251005 Digiswitch buttons, Section Groups,seriegraphy
62251006 Digiswitch buttons, Section Cuelist,seriegraphy
91535001 Flight case 1 * Case ctrl. P1

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/lanquage/en
www.lightspares.com | ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria




